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NN architecture

Linear +relu Linear +relu Linear +relu
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>A simple 3 hidden layers NN with origin input

>Using simulated ETF timing

>Train and valid with data from exp26 run 1756-1781, mixed and
randomly divided into train set (60%) validation set(30%) test set (10%)



Result comparing with 1 hidden layer case
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Result comparing with 1 hidden layer case

Feed up and Feed down (]|z|>50cm)
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Comparison between different model

large z Background reject rate (%)
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New NN architecture: attention based MLP
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After that, using new input passing through a MLP to got

Linear + relu M final output

Input array: ¢, a, tyrifr and tgrie (1 —11) (0 —

1 for vaild value and — 1 for invalid) To keep it possible at FPGA, only three linear layer

included




Preliminary result
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Preliminary result

Training is still ongoing, here | show the result from first 200 epoch
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